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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(v)
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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

Question Nos. 10 - 12 and 22 - 24 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

hNIcH (ATeRh) AN T Teh ISR T |

State one example of positive economics.

fer (ffyea) @mma <6 gftam s |

Define fixed cost.

S9 3TEd 3cd1E (AP) Afeehad gram 8, a9 Hiid 3cdig (MP) : (F& faehew

3fT)
()
)
()
(%)

fEd 3cITE o GHHE BT &

3N IcaTe ¥ 9 BIdT 8

3 Ed 3IcqTe § 31k BT &

STE | ° IS off B ThdT B

When the Average Product (AP) is maximum, the Marginal Product

(MP) is : (Choose the correct alternative)

(a)

(b)

(c)

(d)

Equal to AP

Less than AP

More than AP

Can be any one of the above

P.T.O.
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& 100 $hT3 ICUTET i hl Pl R AN T 30 &1 3R f&a aiEd anrd
< 38, A FA ArE entl : (W famew i)

(#) %3
(@) T30
(M T 270
(7)< 330

When the total fixed cost of producing 100 units is ¥ 30 and the average
variable cost T 3, total cost is : (Choose the correct alternative)

(a T3
() T30
(0 270
(d) T 330

“fermen foTu Icures fopam S <ht Shegle T ST |
AAAT

“Teheileh o T hl heg THET THSTIT |

Explain the central problem of “for whom to produce”.

OR

Explain the central problem of “choice of technique”.

SArE [ H R AT 7 ? AT JArd HiT | §Eeh! T hit |

What is meant by inelastic demand ? Compare it with perfectly inelastic
demand.
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7. U 9% sl U 9dT B W Th UMK I8 hd qF HUT b 98 39 I%q H
ferat 7T @li] ? TuEmsy | 4

STt
SRME sk 71 § ? IHYHME dshi <Al i foisamd sqmsu | 4

Given the price of a good, how will a consumer decide as to how much
quantity to buy of that good ? Explain.
OR

What is Indifference Curve ? State three properties of indifference
curves.

8. 6 Uk g%q il hiAd T 4 Ufd $H1E A Fgoht T 5 Ufd $HTS It @, dl Sh!
ISR fd 100 3h1S & S@h 120 31 & STl 2 | Gfd s HHd o=
giehe ShIfT | 1 gfd deer 8 ? R0 ST | 4

When the price of a commodity changes from ¥ 4 per unit to ¥ 5 per

unit, its market supply rises from 100 units to 120 units. Calculate the
price elasticity of supply. Is supply elastic ? Give reason.

9. 3=qH <hid HimT Ui 9 = U 8 2 38 IiumH HHEsy | 4

What is meant by price ceiling ? Explain its implications.

10.  3MEM 5 fIveNul g1 IUHRRT o T <l Id AHST | 6

Explain the conditions of consumer’s equilibrium using Indifference
Curve Analysis.

11. W@ AW (FFTied) 3R €T ANTd i Teal § 3cq1geh o agad ol I1d
HHLATRT | 6

Explain the conditions of producer’s equilibrium in terms of marginal
revenue and marginal cost.
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TR S 6t @ foRivand SRy | 3@ o SH-E fomivar 9 qol
gfenfiar 9 fie ot 8 R = 2

HAAAT
Ffafad % i Jwemsy
(%) Ul T | BHT o T i TR IAN BigA shi T
(@) fcuTieshR ¥ -Hma Sfaiar

State three characteristics of monopolistic competition. Which of the

characteristics separates it from perfect competition and why ?
OR

Explain the implications of the following :

(a)  Freedom of entry and exit of firms under perfect competition

(b)  Non-price competition under oligopoly

Qus d
SECTION B

frefofiga 3 & w81 Ui s ) wifd e g 2 (T faeed i)

() o T HaT R
(@) T+

() eride wErEan
(%) ST | & i T

Which of the following affects national income ? (Choose the correct
alternative)

(a)  Goods and Services tax
(b)  Corporation tax

(c) Subsidies

(d)  None of the above
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15.

16.
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HET SATYMd <hl qRATST ST |

Define money supply.

Hefi 6 Y T W I ST F w1 FH R ¢ (W P )
(%) FFElE (W ©) TRt

(@) i geidie et (e W ) sert

(M) e SR e

(F) T gfaqfoar s=et

The central bank can increase availability of credit by : (Choose the

correct alternative)

(a)  Raising repo rate

(b)  Raising reverse repo rate

(c) Buying government securities

(d)  Selling government securities

SYUNT oI5k I d FAT TET Y& BT B 2

Why does consumption curve not start from the origin ?

P.T.O.
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17.

18.

19.
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frafafea & & eF-E sifiy aeqd § 3 SH-H gead 2 wRo G |
(%) =M WA R gy i Elig

(@) TR g a9 i wlig

(1) TR Hda @ et g 5@ i wlie

HAAAT

T 3T AG B4 W W ITEfaeh 3T H AT H Hehd @ 2 THST |
Which among the following are final goods and which are intermediate
goods ? Give reasons.

(a)  Milk purchased by a tea stall

(b)  Bus purchased by a school

(c) Juice purchased by a student from the school canteen

OR

Given nominal income, how can we find real income ? Explain.

TOTeh S TRATST T | EAT 39U SR 3R U % S 1 "9y 7 ? Al
TUTh ST W 4 7, df Hiwia 39 Sgfa w1 ke Hife |

Define multiplier. What is the relation between marginal propensity to
consume and multiplier ? Calculate the marginal propensity to consume

if the value of multiplier is 4.

At e ek bt “sifcw sroterar” o €9 § iR TuEmsy |
Explain the role of the Reserve Bank of India as the “lender of last

resort”.

3
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21.

22.
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oehifehil ST & 1 YU B ? 36 3IqUA ol A i o o U
TS | 4
CCH]

oy ($) T F FA1 AU 7 ? 38 Th sy | 4
What is meant by inflationary gap ? State three measures to reduce this
gap.

OR
What is meant by aggregate demand ? State its components.

HTd U9 Ighd 1 o 0-6 7 IR Fdeaw i TREHR 3™ T 100 FUS
3 | 3, ITHM 3R = fG@Td gY U dTfeter! daR T | Af¢ S e
T 80 HUS B, I 3 i TgeH &R off fe@mu | 4

The value of marginal propensity to consume is 0-6 and initial income in
the economy is ¥ 100 crores. Prepare a schedule showing Income,
Consumption and Saving. Also show the equilibrium level of income by
assuming autonomous investment of ¥ 80 crores.

Frafafea o 31ef TwEmge . 6
(%) TS 91
(@) TSR =TeT
() rfies wrer
JAerE
TR 9 o HHfRad 39 IHesT 6

(%) FETEAT I ATeA
(@) T EHHATE S HEAT
Explain the meaning of the following :
(a)  Revenue deficit
(b)  Fiscal deficit
(c) Primary deficit
OR
Explain the following objectives of government budget :
(a)  Allocation of resources
(b)  Reducing income inequalities

9 P.T.O.
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24.
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(%) oI @ g & THF I | IwE G93msT |
(@) YTaH aded B 91’ &l ATERo Fuemsy |

(a)  Explain the impact of rise in exchange rate on national income.

(b)  Explain the concept of ‘deficit’ in balance of payments.

gfeher HIfST (%) SR S | faa Tsda 3aure, qen (@) d1eH (IUTeH)

ANTA TR Fehel T 3G

G) T R =
(i)  ASIQU qr dad
(iii) 3ferafd &y

(iv) Taa e

(v) i Fgrral

(vi) T\ e

(vii) Toeem =1 fraet #r o
(viii) Tl

(ix) oT=c Yoil T ITHM

(x) TSRl grT TR FRaT STRIeH

(xi) Tofa s

10

(T #gl 7)
6,000
1,800

400
100
20
120
70
80
50
200

1,000

4+2=6



Calculate (a) Net National Product at market price, and (b) Gross

Domestic Product at factor cost :

1)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(%)
(xi)

58/1

Rent and interest

Wages and salaries

Undistributed profit

Net indirect taxes

Subsidies

Corporation tax

Net factor income to abroad

Dividends

Consumption of fixed capital

Social security contribution by employers

Mixed income

11

(< in crores)
6,000
1,800

400
100
20
120
70
80
50
200

1,000
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MARKING SCHEME
ECONOMICS - XII

SET (58/1/2/3)
Expected Answers / Value Points
GENERAL INSTRUCTIONS :

1  The Marking Scheme carries only suggested value points for the answers.
These are only guidelines and do not constitute the complete answers.
Students can have their own expression and if the expression is correct, marks
should be awarded accordingly.

2 As per orders of the Hon’ble Supreme Court, a candidate would now be
permitted to obtain a photocopy of his/her Answer Book on payment of the
prescribed fee. Examiners/Head Examiners are, therefore, once again
reminded that they must ensure that evaluation is carried out strictly as per
value points for each answer as given in the Marking Scheme.

3  Head Examiners/Examiners are hereby instructed that while evaluating the
answer books, if the answer is found to be totally incorrect, the (X) should be
marked on the incorrect answer and awarded ‘0’ mark.

4  Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the ‘Marking Scheme’ below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE
WHERE THE ANSWER ENDS.

5  Expected/suggested answers have been given in the ‘Marking Scheme’. To evaluate
the answers, the value points indicated in the marking scheme should be followed.

6  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

7  For mere arithmetical errors, there should be minimal deduction. Only % mark
should be deducted for such an error.

8  Where only two / three or a ‘given’ number of examples / factors / points are
expected, only the first two / three or expected number should be read. The rest are
irrelevant and must not be examined.

9  There should be no effort at ‘moderation’ of the marks by the evaluating teachers.
The actual total marks obtained by the candidate may be of no concern to the
evaluators.

10 Higher order thinking ability questions are for assessing a student’s understanding /
analytical ability.

General Note: In case of a numerical question, no marks should be awarded if
only the final answer has been given, even if it is correct.
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User
Text Box
English


Expected Answer / Value Points

Setl | Set2 | Set3 SECTION - A Distribution
of Marks
1. 3 2. Problem of scarcity means insufficient availability of resources in relation 1
to demand for the resources.
2. 2 3. Cost in economics is the sum total of explicit cost and implicit cost 1
including normal profit.
Or, Cost in Economics is the sum of actual money expenditure on inputs
and estimated value of inputs provided by the owners including normal
profits.
3. 1 4. (c) May fall or may rise.
4, 4 1 (b) Rises
5. 5 Microeconomics studies the behaviour of individual economic units
(OR whereas macroeconomics studies the behavior of the economy as a whole.
Up Example of microeconomics — consumer’s equilibrium (or any other one 1
Down) relevant example)
Example of macroeconomics — national income (or any other one relevant 1y
example.)
OR
Production Possibility Curve (PPC) shows various
combinations/possibilities of the two goods that can be produced with
given resources and technology assuming full and efficient utilization of 1
resources.
Yes, PPC can shift due to:
a) Change in resources. 1+1
b) Change in technology.
6. 6 5. i) Price of substitute goods
i) Price of complementary goods. 3x1=3
iii) Income of its buyers.
(or any other three relevant determinants)
7. 9. 8. Demand curve will be parallel to the Y axis as there is no change in
quantity demanded due to rise in the price of the commodity. 4
(Note : Diagram not required)
8. 7. 9. Revenue in Microeconomics means the market value of output. 1
Relation between MR and AR
Schedule Y-axis
Units Price/AR MR Diagram
1 10 10 MR=AR
2 10 10 OR &
3 10 10
4 10 10 0 Q, Q, X-axis 3
Output
MR = AR at all levels of output MR curve is parallel to the X-
Outside Delhi Page 2




axis and coincides with the
AR curve.
OR
Supply refers to the quantity of a good which a producer is willing to 1
supply at various possible prices during a given period of time.
- Increase in supply means supply rises due to favourable change in 1Y%
factors affecting supply other than own price of that good
whereas
- Extension in supply means increase in quantity supplied due to rise 11/
in price of that good, other factors remaining constant. 2
9. 8. 7 ‘Price Floor’ is the minimum price fixed by the government below which 1
sellers cannot sell their product.
Since this price is normally fixed above the equilibrium price, there is excess 3
supply in the market. As the seller may not be able to sell all that he wants to
sell, he may illegally attempt to sell the product at a price below the floor price
fixed by the government.
10. | 11. | 12. | The consumer is in equilibrium when
I:)X I::'Y
b) MU continuously falls. 1
Explanation
Condition 1 Suppose per rupee marginal utility by spending on good X is
greater than on good Y. This induces the consumer to spend
more on good X by reducing spending on Y. This leads to 3
fall in MUy and rise in MUy. This shift of spending from
: .. MU MU
good Y to good X continues till X __— ¥
|:>X PY
M MU, .
(Answer based on MUx < MYy is also acceptable)
PX PY
Condition 2 Marginal utility falls as more units are consumed i.e. the law
of diminishing marginal utility is operating. This ensures
fulfilment of the first condition. 1
(Diagram not required)
OR
The three properties of ICs are
1) An IC slopes downwards from left to right.
It is because to consume more quantity of one good, some quantity
of the other good must be reduced for the consumer to remain on
the same IC.
Outside Delhi Page 3




2) An IC is convex towards origin.
It is because MRS declines as more is consumed of one good,
because of operation of law of diminishing marginal utility.
3) An IC to the right represents higher level of satisfaction.
It is because an IC to the right shows more units of goods consumed 1
and more units of goods consumed are assumed to have more 1
satisfaction.
(No diagram is required)

11. |12. |10. |According to the Law of Variable Proportions — as only one input is 1
increased, others remaining unchanged, the total product increases at an
increasing rate, then at a decreasing rate and ultimately falls.

I Maximum TP ! B )
I
| : TP
I I
| I
I
TP ' 1
I
| I
1 1
Phase | Phasell | Phaselll _ X
0 Units of variable input
Phase I  In the first phase, TP increases at an increasing rate upto point A. 1
Phase Il In the second phase, TP increases at a diminishing rate between 1
point A & B.
Phase 11l In the third phase, TP starts falling beyond point B. 1
FOR BLIND CANDIDATES - Any Valid Schedule 2
12. | 10. |11. |1) Large number of buyers and sellers — The number of buyers and
sellers is so large that an individual seller or buyer has insignificant
share of total output sold or purchased.
2) Homogeneous products — The buyers treat the products of all the
firms in the industry as identical/homogeneous. 115x4=6
3) Perfect knowledge — AIll producers and consumers are fully
informed about the market.
4) Freedom of entry and exit — There are no barriers in the way of
new firms joining the industry and existing firms leaving the
industry.

13. | 14. |16. | (a) Rises 1

14. |13. |15. | Money Multiplier =5 1

15. |16. |14, |(b) Banking facilities to public 1

16. |15. 13. |APS=0.25 1

Outside Delhi Page 4




17 17. | 18. | (a) A car used as a taxi - It is a capital good because it is used for 1
producing services for generating income.

(b) Refrigerator in a hotel — It is a capital good because it is used for 1
providing services over a period of time to the production unit.

(c) Air-conditioner in a house — It is a consumer good because it is used 1
for satisfaction of a want by a household.

(No marks if reason is not given or is incorrect)
OR

Intermediate  Consumption refers to the expenditure incurred by a

production unit on purchasing those goods and services from other 1%

production units, which are meant for resale or for using up completely

during the same year.

For example: Milk purchased by a hotel because it is purchased from

another production unit for resale indirectly. (or any other relevant Yo

example)

Whereas Final Consumption refers to the expenditure on goods and 1

services meant for final consumption and investment.

18. 118. 117 |}y C=100+0.6Y (given) .
SoMPC =0.6
MPS = 1-MPC
=1-06 1
=04

i) S=-C+(1-h)yY. .
S=-100+04Y

19. |21. |20. |a) Bank Rate Policy — It is the rate at which the central bank lends
funds to the commercial banks. An increase in the bank rate 2
increases the costs of borrowing from the central bank. This will
then cause banks to increase the rate at which they lend. This will
discourage people from taking loans, thus reducing the volume of
credit in the economy and vice-versa.

b) Cash Reserve Ratio (CRR) — It is the proportion of deposits that
commercial banks have to keep as cash reserves with the central 2
bank. An increase in CRR has the effect of reducing the bank’s
excess reserves and thus decrease their ability to give credit.

(Any other relevant method is to be considered) (Any Two)
OR

It means that the Central bank has the sole authority to issue currency notes

in the country. The monopoly of issuing notes by the central bank ensures

uniformity in the notes issued. 4

(To be marked as a whole)
Outside Delhi Page 5




20. | 19. |21. | National Income is determined in an economy at a point where planned 1
saving equals planned investment.
S, 1 S
E
1Y%
0
Y
Income
In the above diagram E is the equilibrium point where savings equals
investment at national income Y.
At any output level less than equilibrium output, S < | means there is
unplanned decrease in inventories. To increase inventories to the planned 1Y%
level, producers increase output leading to increase in income. With such
rise in income, saving rises again till S = I at equilibrium E.
(Note : Explanation with S > I, is also acceptable.)
FOR BLIND CANDIDATES — Any Valid Schedule 17
21. | 20. |19. | Investment multiplier is a measure of the effect of change in the initial
investment on change in final income. 1
Numerical example
Suppose Al = %100 cr.
MPC = 0.8
Initial investment of ¥ 100 cr. raises the income by ¥ 100 cr. In the first
round, this additional income causes an increase in consumption
expenditure which in turn, generates more income (as one man’s
expenditure is another man’s income). This process continues till the total
income is equal to multiplier times the initial investment.
Round AY AC AS
I 100 —> 80 20
I 80—, 64 16
i 64 51.2 12.8
| Total 500 400 100 |
(or any other relevant example)
_ 1 3
1- MPC
K=+
1-0.8
K=5
So AY = K. Al
Outside Delhi
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= 5x100
= 3500
(Explanation without schedule is also acceptable)
22. | 23. |23. |(a) Revenue expenditure — It is the expenditure made by the
government that neither creates any assets nor reduces any liability. 1% x 2=3
Capital expenditure — It is the expenditure incurred by the
government that either creates assets or reduces liabilities.
(b) Fiscal Deficit refers to the excess of ‘total expenditure’ over ‘total
receipts excluding borrowings’. 1% x 2=3
Whereas
Primary deficit is defined as fiscal deficit less interest payments.
OR
Revenue Receipts are receipts which neither create a liability nor lead to
reduction in assets whereas Capital Receipts are the receipts which either
create a liability or reduce assets of the govt. 3
Components of Revenue Receipts are —
- Tax revenue receipts (direct and indirect taxes) 1%
- Non-tax revenue receipts.
Components of Capital Receipts are
- recovery of loans
- borrowings and other liabilities 1%
- other capital receipts like disinvestment.
23. | 24. | 22. | Fixed exchange rate is the rate which is decided by the government at )
which domestic currency can be exchanged with foreign currency.
Flexible exchange rate is the rate which is determined by the forces of
demand and supply of foreign exchange in the foreign exchange market.
The foreign exchange rate and demand for foreign exchange are inversely 4
related. The supply of foreign exchange and rate of foreign exchange are
directly related. The exchange rate at which demand and supply of foreign
exchange are equal is the equilibrium exchange rate.
(Diagram is not required)
24. |22. |24. | (a) GDPwp = (ii) + (i) + (iii)) + (iv) 1%
= 3,500 + 4,000 + 1,100 + 500 1
= % 9,100 Crores 1
(b) NNPec = GDPwp — (ix) + (V) — (Vi) 1%
= 9,100-120 + 100 - 300 1
= ¥ 8,780 Crores 1
(No marks to be awarded if only final answer is given)
Outside Delhi Page 7
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The Marking Scheme carries only suggested value points for the answers.
These are only guidelines and do not constitute the complete answers.
Students can have their own expression and if the expression is correct, marks
should be awarded accordingly.

As per orders of the Hon’ble Supreme Court,a candidate would now be
permitted to obtain a photocopy of his/her Answer Book on payment of the
prescribed fee. Examiners/Head Examiners are, therefore, once again
reminded that they must ensure that evaluation is carried out strictly as per
value points for each answer as given in the Marking Scheme.

Head Examiners/Examiners are hereby instructed that while evaluating the
answer books, if the answer is found to be totally incorrect, the (X) should be
marked on the incorrect answer and awarded ‘0’ mark.

Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the ‘Marking Scheme’ below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE
WHERE THE ANSWER ENDS.

Expected/suggested answers have been given in the ‘Marking Scheme’. To evaluate
the answers, the value points indicated in the marking scheme should be followed.

For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated along with the value points.

For mere arithmetical errors, there should be minimal deduction. Only %2 mark
should be deducted for such an error.

Where only two / three or a ‘given’ number of examples / factors / points are
expected, only the first two / three or expected number should be read. The rest are
irrelevant and must not be examined.

There should be no effort at ‘moderation’ of the marks by the evaluating teachers.
The actual total marks obtained by the candidate may be of no concern to the
evaluators.

Higher order thinking ability questions are for assessing a student’s understanding /
analytical ability.

General Note: In case of a numerical question, no marks should be awarded if
only the final answer has been given, even if it is correct.
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T 3cak /| FHediehsd Fslg
ATIT - 3

Question
No.

HTATT — o

Marks

2

qas faFeT T o7 5 |

9T ITUTEA FT T

() F&q T Fraa

(@) 1.5

A I

GOHWINE
NN
GIFN NN

TH THEAT F7 G I [OAAT | § T U TIHAEAT TF FIAT g 1o 39 (oot
FEGAT AT HATSAT T ITATET FHIAT g TAT Fhaet FTAT FT IcATEA AT ST |
FAIF T qHTIA: ST STd g TAT Tk JohfeTsh TN B 2 |

ERLH

TR HATAAT a7 Hateraa afferfadt § qo &g & 32 foms aaar g
¢, "ETeHl § IhE

3. TEAE H I

1%
1%

Ed=EX a

100 20

~ AP 200
-2 (AP) = 10
AP =-5
TR RAT = ARFAF HAT+ AP = 20+(-)5 =15

Yo

Y2

ST TE@T T THIHTT
m = PxQx + PyQy STef m = 3,

ELRETESH
100 = 10Qx + 5Qy

EREN
FTea T T {32 | AT 39 a8 X A &, o9 9% uF SUHR uF aeq
FT Sfafeh =aTE T 9 % fore gt awq it AT AW # 39 E

ST ST STHTTHT AATIEHTA a5k 9T A1 T < 3117 g Tiaemae it A a¢
AT Tt T ¢ | T2 zTar 8 it 79 ITFewt X 7w ¥ rfafew zhre 7 e
FXATE AT a8 Y I T FH THISAT T AR FIAT ATEAT 2 AT TEHHT H0T &
HEdT HAT TR 1 77w g

ITATEH HAT T 9T &
2. MC=MR and

2. MC = MR, 3Ireq &< % arce MC>MR
ot 1 i =TT

Ffe MC<MR g a7, I8 STITaF o7 ATHETIH g FA11h g¢ 94T THTS
ITATEA F ATH | Fhg oM, s IRT 21 7 ITATEF 37 STTEA HTM qAqT T
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& it MC = MR 7 g1 917 |

Ffe MC>MR g, T ft ScITas ST | qal g7 F11h Tg1 ATH e &< 9
ATH o TA< & FH g1 OMTE ScqTaeh IATaT § ) T FHHT FHT STa aeh i

MC = MR 7 &1 st |

a1t 2 it AT

7fg MC = MR &% & 7=1a MC<MR 24T &, a7 Yo 747 =1 a1q § gig
FAT |

i MC = MR &% & w1d@ MC>MR graT &, a7 Y 721 Tah1e @1 § T
FIAT | 7 UET Rt § SeqTaa ST ITATae Aol F a7 ITITaH S | g |

TALT TAT FTIHA T Tq=qT w1 AT € 3 A % S=T § serer o afgaiawT
U TS AU Al 21 | T TAHTH BH AATHT ATH STO1d w8 ar 724t &

AR H 797 % Forw IR gt €, 399 ST Il § gfe gl & a7 HiAal § q97
AT § FHT ZIAT g | AT TF TF AAAT LT § T qF {9 FH Fae HTHIT ATH
srfora w2 |

THY YT ST FHT AT G AT @ AT T B ST AT GIe <t g e arem gt
H FHT gt § TR0 Ta&q F9q 9 SATAT § TAT g § HHT A oIt 8§ 56
TERTT ST T § FH shael GTHTT AT Tford el g |

(T |1y H{ediF f&ar )

10.

12

11

AT STHATHT hae &l aeqalt X TAT Y AT ITHNT FIAT & T T 0l 9 =3 8
MUx MUy

Py Py
R ST & T SATAF AT AT ITHNT 647 17 & ad MU =redt 8
qTeT ©
MUyx_ MUy ,
?. vﬁp—x>?s’&rﬁaﬁﬁwsﬁmﬁYm%mﬁXa’@@raﬁ%ﬁ
Tt =93 HHTeT ITATRET ITH ST & o1 ag X T il ATerF G e Y
TG TR @A | T MUy # F41 At e MU, @77 | STHIHT a9 99

Y T GEEAT ST @A o qoh— =—— o g o |
MU MU
(=T THT— <—Lqz e 3w o qre ZIIT)

3. S ITANT FEart g af MU =reat 8 | 3T MU ST&l &1 a7 STHIH S

T I AT Tg= |
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11.

10

12

TN FOAT S
(i) MC T® ATC TaT AVC T "
T ITh FAqH Twgar 9% Frear e 3
2 3 -
(i) STaTeT # Ffg F | ATC X
9T AVC gl & o &1 gl _
forae s 2 | ° o )
MC, AVC aar AC # &= g4
st MC < ATC/AVC, ATC/AVC fr Srar g
MC = ATC /AVC, ATC /AVC Rox grar 2 3
MC > ATC /AVC, ATC /AVC ag raT g
gREm et ¥ g wré o S dearcrs aiferer | 3
12. 111 | 10 | “mawm fiwa” dwr Rafor & s 1 =7aw fma 7 § 0/ awww gwr
et BT Smar & qur e ft SeITee e 3TTe F TH fiHd F FH hd 97 2
Tol I qHaT g |
FI% THIAT: I8 T TG BT T AT gl g AT arome & qit 4
arterFr it ot gt § o STITe® oq« 3caTE &l =6 hiHd 9% qgl o= 91dT
TAT 9 AT T F IATH AT F FF HHT 92 9 IS Bl J=T HT TId
FATE |
ERE
U & T ATAE HIAT | g | AT § FHT Fiogar Fad a7 qfd sfererr aar w2t
gl 6
- TEE IROTHEREY, ARarst & St Tiaeadr aaT gt g, Fih Ehar S off
AT 96 HISET AT I J94T F18d 8, A8 o9 H G877 qgi gl
- #Ha ® Rrae 9 /0 ¥ gig & srgfi § feae grf )
- UH IRAAT a9 T AT T2d § T T AT 72 GqT T 7 9go 9 |
(TF AT AT 64T 1Y)
STTATT o
13. |16 | 14 | ==t qoT argat e Igur (FIE s T IITEIO) 1
14. 115 | 13 | 7) 3u<res 7T 1
15. | 14 | 16 | STaT o 9TE HLET TAT AHT 6 TG A T STHS 1
16. |13 | 15 | =wwr qet & i Gt sref=raear & soame 2q et ot sty awqer ua 1
ATl F HIGF T T g |
1711 |1 | 3 anfofe =% g &or & oo fAfara famg o2 9t ofrar 8 w=2i #gemd 8 S - | 11,
IS, et
st 7 st =% g ffer e e & wr S g e Fwen g e - |,
T, ot
4
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(arr STifReg SaTREeT et i st 1Y)
STt

GSRTT a%qu, F fears awqu g ST aeqelr 3 |arel & Scared § YT o
SISUERS EIED

STHITHT Q0 o Q0 & ST TART STAIHRISAT G127 SO T SAaehara f §qiE
oI T ST 2 |

1%

1%

18.

17

18

Tarer I U THT A9 g ST Heer § GEHE IREdd & wered s 9T # sffaw
TREde % ST I ATIAT & |

TRerer O AT HHTT STANT TG F A1 TAeT q¥awg gIam & FA7q is Heia
START TG T G SAT g a1 91 or T g7 | =1 R |

1
K= 1-MPC

19.

20

21

FATT g GIT TFAEAT § ST 6T AT qr Jra F 7oy 3 forw s Aifa sroere
STTAT & SH AT A1 Fgl ST g Wiiwsh AId o THE TR & & 9 3¢, 1T &Y,
e YT 2, T AT AT, |t qA S AT A |

(S i SThT)

20.

21

19

o7 TR A Ruafy g s aet f y=fera 3% aw St afves w5 w i g=an

F AT TEAT g IH FTH FT ATE 39 2T |

T IO TSI & &2 9¥ Aa9TF A I & g 707 AfgF g (AD>AS) ar 7

fafy srfafes =i Afifs sraae Feardt & 20 Rufy & suesy aw=qd tag

HATE Tl AT 6 AT T FH g SITAT g TAqT TO7 TSI =0t et & sAfafisn

FEGAT TH HATSA FT ICATEA T Al gIaT ored dTHT= HrHd &< | g grat &
(S AT 7G)

et
AT FT HIAT T2 (G0 A AT e &
i T w7 - g s (AD-AS saemm)

ii.  T=a -Fae sEgror(S- sraemom))

FAAT 6 AT ST T
AD=AS (AD-AS srasmem)
C+I=C+S
I=S (S-1 srergmeom)
(3T AT EY)

21.

19

20

JeATIT ITART T AfoomT sreferaet ®§ g g & At = o Fata
ITANT § 8 | ST ITANT F qTeqd I START €< F g S TP a7 97 79w
Tt FLAT, FTATT LT 3T FqL I ITH,

srafd IRT ITART | qread IT UGN T H g S TeqT €T F 37 97 9w
AT gl
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22.

23

23

LA qSIE - G T ANTHT fE<iT a6 [ ey siv [afsa =2
FT faawr g =9F e 92F §
o) TTSTET TTEAT - LRI il ag TTTHAT FSrae F 7 qEahTe il TRae = § HHt
AT & 3% 7 Y Tt F fFeaar ® giy gt g |
) GSIRTT TTEIT — LRI 6T ag Tl SEd J1 a7 G o gReer §
FHT AT & AT AT AR F Fricadr § FAE e 2|
q) TS T — AL HT VAT A e T 1 GEh1 6l TRaeadr § gfg gar
T 3T 7 &Y e F TfAcaAr § FwHT o |
T) IS 2T — FYHTE AT UET A SEE 41 av g i aear T § gt
BT & 3 o7 97 I F TiAcaar § FHT o |

et

LR % a7 FT I

o) FHTLAT T AT - TFaedT § UHT srehr i forarmar g o A & & forw
ATHETAF Aol Il S8 S AT, T TS e | SAar & f@a &7 ea # wad
U TTHT 2 ATl T HATAT T3 FIAT § ATk ST THTST FHAT0T 2l T,
T & g AT were it #7 R a9 suf¥s agradar yam #h st &=r
% ICATEHT &l AT & 2 H 1 F3A % o7 Freared i g |

F) artye RRawar — et Rawar &1 o g 99 Fiwai § 92 99 9 39 9819

TeT BraT FAT1h AT § AT ASTT T AFTITEAT § AAT%aar st Bafq a=dt g |
THTT UH IAT ALTH g4 9T AT TZrIam a7 F7 RATd g == wdt & |
IaTeeer % forw effY sreawrer it Rufa & 9w 27 1 9 T T T9T 9 =741 A
FH Fh T HAT KT HH FLA H TGIAAT FAT § STk AT sTeaerer i ot
H srfeier AT auT F2 R 3 % 99T G F g § 9T #dt § |
(Pt st 1S Ik avie B 8 <)

1x4=4

23.

22

24

xRt 3w fuw RfRw svag 32 2t & S "o g fRatfia & o g
T o 3% 9% = qaT & faeeft gar # fAfawy fhemar g

T faffwy <2 =g =% & S Ryt Beft B e & G G i
HIT 37T QT T erfeRat g7 36T STTaT &)

gyhstaa Rffag == 72 Rty o f = s1eer § S st &0 §%
Freme et gT Fatia fGeeft ffFas @ &1 seas TRt § aqar
TEIAT T TATIAT FaT 2 |

24.

24

22

31) =T artererT = (ii)+ [(iv) + (vii) + (viii)]
= 800+ 460 + 940 + 300
= T 2500 FrE
) T AT = (i) + y=Tee AT + (X)
= 2,000 + 2500 + 200
=34,700 FI1E 77T

1%

Yo
1Y%

Yo
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